APPENDIX 5 - STANDARDS CALCULATOR

Current Provision
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Recommended Standard (per 1,000 popln)
Area All ] Children's |- 2.70 0.62 0.73 0.17 0.12 0.17
Population | Population
1 35,939 8,609 38.20 269.62 18.66 27.80 3.13 0.00 3.11
2 49,579 11,203 77.47 101.98 28.56 8.50 1.73 0.50 1.37
3 51,506 14,631 53.28 149.38 6.88 40.49 1.66 5.06 8.23
4 53,456 15,474 54.12 55.91 66.56 4475 2.32 4.98 24.13
5 25,555 7,371 25.42 13.31 23.35 35.89 0.72 10.15 4.17
6 38,438 9,772 26.84 95.70 13.42 27.95 1.75 11.01 3.39
Borough Total 254,473 67,060 275.33 685.90 157.43 185.38 11.31 31.70 44.40
Current provision per 1000
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1 35,939 8,609 1.06 7.50 0.52 0.77 0.36 0.00 0.09
2 49,579 11,203 1.56 2.06 0.58 0.17 0.15 0.01 0.03
3 51,506 14,631 1.03 2.90 0.13 0.79 0.11 0.10 0.16
4 53,456 15,474 1.01 1.05 1.25 0.84 0.15 0.09 0.45
5 25,555 7,371 0.99 0.52 0.91 1.40 0.10 0.40 0.16
6 38,438 9,772 0.70 2.49 0.35 0.73 0.18 0.29 0.09
Borough Total 254,473 67,060 1.08 2.70 0.62 0.73 0.17 0.12 0.17
Current Surplus or Deficiency
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Recommended Standard (per 1,000 popln)
Area All | Children's |-, 2.70 0.62 0.73 0.17 0.12 0.17
Population | Population
1 35,939 8,609
2 49,579 11,203
3 51,506 14,631
4 53,456 15,474
5 25,555 7,371
6 38,438 9,772
Borough Total 254,473 67,060 0.00 0.00 0.00 0.00 0.00 0.00 0.00
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